H3FH 9] 7]1% (Fundamentals of Computer System)

Final Exam
10 June 2009

2009 shd &= 1 8}17]

1. th2 52 o] F(true) 91 %] A Al (false) Q1 A] £ A3}, (5)

a.100>3 && 'a' > 'c' false
b.x>y?y>x:x>y false
C.X>=y|y>X True

2. b5 220 93] dojR= &8-S %AIsHE (10)

#include <stdio.h>
int main(void)

{
inti=0;
while (i <3){
switch (i++) {
case O : printf("blue ");
case 1 : printf("yellow ™);
break;
case 2 : printf("white ");
default : printf(“green ");
}
putchar (\n’);
}
return O;
}
blue yellow
yellow
white green

3. 0hg Tl o)a) dojX= 2 HAsle (10)
(FE: o TR a9 Felo] B3 gl WHEE &= o] )i}

#include <stdio.h>
int main(void)



int age = 20;

while (aget+ <= 65)

{
if (( age % 20) == 0) /x 20 2LI+O0{HO{X| =717 */
printf("%dMct S&ILiol L Ch #n", age);
if (age = 65)
printf("edM Ut El&ELto|uct Wn", age);
}
return 0;
}
65 Al YU o}, B # sfo] Y Th, --o] Fit-o] Al vk
4. SR} A A GAAH(E A AW A) o] Ao] = F31917 (5)
FAADARE I 5E Frol AoRE waTh AdRAE B4 5F
golth. %, o] gkol FAu S ATk ARBAAE 1 A5
QA AN E 271371 ghol o A2k 5 ol

#include <stdio.h>
long func(int n);
int main(void)

{
int num = 5;
printf("answer for %d: %ld#n", num, func(num));
return 0;
}
long func(int n)
{
long answer ;
if (n>0)
answer = n * func(n-1);
else
answer = 1;
return answer;
}

120 tail recursionoll 2|8+ HH=



#include <stdio.h>
int main(void)

{
int ref[] = {2, 4, 6, 8};
int *ptr;
int index;
for (index = 0, ptr = ref; index < 3; index++, ptr++)
printf("%d %d %dtn", ref[index], *ptr, *(ptr+1));
return 0;
}
224
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#include <stdio.h>
int main(void)

—~

int ary[3][2] = {{1,2},{3,4},{5,6}};
int i,j;

for(i =0; i <3; i++) {
printf("#n =(ary+%d) : %pWt", i, =(ary+i));
for (j =0; ] <2; j++)
printf("%5d", *(*(ary+i)+j));
}
printf("#n");

return 0;



BN CWWindows#system32#cmd.exe

= apy+fr =
=Capry+l> =

#(apry+d)
AETEH 0FF 2L

BN CWWindows#system32#cmd.exe

=*=(ary+d> : BO17FF14
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8. o] Z 2 7MW gnuixt ZFE UL A2 wte= g Ao}, Ay FES Fol
FA 3 o] ol ol AAE &2 o] Yo == 3l}. (10)

int main(void)

{
int x fp;
int k;
fp = fopen("snu.txt");
for (k = 0; k < 5; k++)
fputs(fp, "Seoul National University.");
fclose("snu.txt");
return 0;
}

snu.txt o] == ¥ = H-&.

Seoul National University.
Seoul National University.
Seoul National University.
Seoul National University.
Seoul National University.



#include <stdio.h>
int main(void)

{
FILE = fp;
int k;
fp = fopen("SNU. txt","w");
for (k = 0; k < 5; kt+)
fputs("Seoul National University.#n", fp);
fclose(fp);
return 0;
}

9. fprintf £ ©]&-8ko] th5- o] W RT3 HEL A]jo] FYH=F PHE S e (5)

printf("SNU, %s\n", name);

fprintf(stdout, "SNU, %s\n", name);

10. Th& Z 2290 93l doj A= =8-S HAIStE (5)

#include <stdio.h>
struct book {

float price;

int volume;

int issue;

char publisher[40];
b

int main(void)

{
struct book mybook = {300.0, 5, 2, "Elsevier"};
struct book card;

card = &mybook;

printf("%d %d#n", mybook.volume, card->issue);

printf("%s #n", mybook.publisher);

printf("%c %cn", card->publisher[3], mybook.publisher[4]);
return 0;



BN C#Windowswsystem32wcmd.exe

- 5 (Basic pay rate) = $5.00/hour
- 40 A1 ZF Z3A] F=55 = $7.00/hour
Z A T3 = $8.00/hour
- Al 10 % (0 ~ $300)
20% ($300 ~ $400)
30% ($400 ~)
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fdefine
#define
#define
Fdefine
#define
#define
#define
Fdefine
#define
fdefine

pPrintfi"Please
scanf_s{"XIf",

2T MIE
>

finclude <stdio.h

F_RATE1 5.00
F_RATEZ 7.00
F_RATE3 8.00
F_BO1 40
F_BOZ 50
T_RATEL 0.1
T_RA&TEZ 0.2
T_RATES 0.3
T_BO1 300
T_BOZ 400

gint main(yoid)

double hours:
double gross:
double taxes:
double net:

A EI =Y
printf #nYou worked %.2f nours in oa week.%n”, hoursh
printf{"the gross paw. FL.2f, the taxes:

return 0
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A HE A E
AF B FAUAAE
AAH I FAHS
HEe| & Hay 228 2| F 250 300
Hgel 5 Huy F2F 2|F Y0 400
main Eh Al E
S E ZEF M
HE =2 4
HE =2 E4%d E H2 &9
HxE F=2 2% (net pay)
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$E.2F,

enter the hours wou worked inoa week: ")
ghours

the net paw:

FE2.2f8n", gross,
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net 1
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ginclude ==tdio.h
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#define P_RATE1 5.00 A= AMa
#define P_RATEZ 7.00 AOE HE 23 MZ
#define P_RATEZ 8.00 AE BB Z2 AMZS
#define P_BO1 40 AoAlgel A OHI Z3 2ED 40M 2
#define P_BOZ &0 AoAlgel F oHm E3 2 FE a0 2t
#define T_RATE1 0.1 A HE FAUHHE
#define T_RATEZ 0.2 A WD FAHE
#define T_RATE3 0.3 AAd HEy AU E
#define T_BO1 300 AdEe & W F2F 2E YW f300
#define T_BOZ 400 /F M &2 5 Huj 228 3 F W 400
= int main{void) Afomain B AlE

{

double hours:  /F T2 & YFb AlZH

double gross: A/ HT FZ2 &9

double taxes: AHTE =22 EYWH HE HZ =M

double net: A E FZ M (net pay)

printf("Please enter the hours vou worked in & week: ")
scanf_s("ZI1f", &hours )

2R AH ME HTE F£2 £Ug

if (hours<=P_B0O1) 4404 2
gross=(hours+P_RATEL 1

glse if (hours<=P_BO2) // 40470 Z3b 504 2F 0|5 25 A AT =2 &M
gross=(P_BO1+P_RATE1 }+{ {hours-P_B01 J+P_RATE2 )

else AOB0DAZE 2 2F M dT F=2
grogs=(P_BO1+P_RATE1 J+({(P_BO2-P_BO1 J+P_RATEZ }+({hours-P_BOZ2 )+P_RATEZ ).

AHT FE oy

.
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A4 aross pavdll [HE tax=| H &

if (gross<=T_B01} A7 %300 0)SF gross pav2| tawu
taxes=(aross+T_RATEL 1

else if (9ross<==T_BO2) // $300 ZZ} $400 0|5} gross pav?| taw
tares=(T_BO1+T_RATE!l )+{{aross-T_BO1J+T_RATE2 )

else A4OB400 Z b aross pav2l tax
tares=( T_BO1+T_RATE! J+((T_BO2-T_B01 J+T_RATEZ J+({gross-T_BOZ2)+T_RATE3 };

£fonet pay H A
net=gross-taxes;

A BL =
printfl #n¥ou worked %.2f hours in a week.#n”. hours):

O

12

printf{"the gross pay: $%.2F, the taxes: $%.2F, the net pav: 3Z.2f%n", gross, taxes, netl

return 0:
Afomain B B




